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Delhi Metro Rail Corporation Limited

[Roll No: 12052001915

Participant Name: CHANDRA PARAKASH SAINI
Test Center Name: iON Digital Zone iDZ,Duhai
Test Date: 20/02/2017

Test Time: 8:30 AM - 10:45 AM

Section : Domain

Q.1 I =T 3@ TR T FoFR IW T AT & FRAE AEE @ AT Aol R AT A
FH FT@T 27

Ans

X 1. FHET-HTF (Cut-off)

Question ID
Status

173681518693
:Not Attempted
Chosen Option :

X 2 afea
o BILAS (Saturation)

X 4 g7g9éE (Inverted)

Q.2 ol fgvewmy (DC) Tl &7 T (yoke), TFW W& F Jraehrar TeTd @ &7 @1 &2

Ans 1 HTET ST (BT A1)

Question ID
Status

173681518673
:Answered

i Chosen Option : 4
X 2. 3T AT (AT AT
X 3. FRHA T (FFE HTTA)
W 1 ToAaT olET (FIES AT
@3 Wﬁ{ﬂ?—l (dielectrics) T &7 Question ID : 73681518682
Ans ; Status : Answered
X 1. Hic=ITeTeh (Toehgaey) Chosen Option :2
v 2. TEegaRedT Ty
X 2 e
X o iege
4 o w7 FoTeRE A T # ¥ W A @ W A Question ID : 73681518663
Ans x 1. 9T Status : Answered
Chosen Option :2
X2 FEa
X 3 grar
o 4 FETT

B Watermarkly




Q.5
Ans

ﬁ@?ﬂ?mﬁ'haﬂaﬁrm(classdﬁre)m%‘?
X 1. FB 3T

Question ID
Status

173681518644
: Answered

Chosen Option : 4
X 2 FE-A 7T
X3 Fa-T T
v 4 Fa-C HTeT
6 : . A
Q6 Trmfafed # & Fiawr, F For dle-graha (Fr ) T & Question ID : 73681518667
Ans x 1 m Status : Answered
_ Chosen Option : 4
v 2 tfeasra (Alnicos)
X2
X 4 FrETee
Q7 ' i ‘
FOR AR F FeA F A 7 w@ F == (pliers) gEa Fro I E2 Question ID : 73681518647
Ans Status : Answered

X 1. SIfakeT wemad (Locking pliers)
X 2 arax TEegw (Wire strippers)
X 3. offe9T T =@y (Long nose pliers)

v 4 el #ed (Diagonal cutters)

Chosen Option :

4

Q.8

Ans

A & o TRufadl # & s wee sE Hie fEaw f g FH S 27
X 1. 37 9199 (Base biased)

X 2 wRag 798 (Forward biased)
v 3 TT S1I9 (Reverse biased)
X o FAfETE I/mT (Medium: biased)

Question ID :
:Not Attempted
Chosen Option :

Status

73681518690

Q.9

Ans

feEeT & & &9 H 399FT T S g
X 1. sz (Rectifier)

V' 2 TF ST HE . HE T

X 3. gfeRes

/< 4 T (Oscillator)

Question ID
Status
Chosen Option

173681518694
:Answered
|

Q.10

Ans

feF-afraa® (commutator) T For, T/ 7 ¥ 5@ 991y &7 =7 g7 7
25 1. ATSRT
X2 g
v e
. HogA=TH
X 4 3eg

Question ID
Status
Chosen Option

173681518674
:Answered
]
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Q.11 317 &y 97 BFF 39T (semiconductor) FT, TEY TG 3931 &iaT 87
Ans - X 1. FOH

Question ID
Status

173681518654
:Answered

x 9 mnl';r Chosen Option : 3
Ko FEa
v . R
Q.12 =iz 71 &0 5w F v 57 Fefoted # ¥ FFuF w Rega-ave (electroplating) frar T #72
A Question ID : 73681518660
ns .
x 1. amEr Status : Answered
Chosen Option : 4
X 2 egAATH
X3 TFda
Vo FEAT
= =
Q.13 4 .
FEa Fardae o9 9T FTH FIT gl Question ID : 73681518671
Status : Answered

Ans o 1. 2000°

Chosen Option

12

< 2.1800°
< 3.2100°
X 4 2200°

Q.14 3= s ¥« $r are-3ma7 (watt-hour) Frerar o gfeera & & e TEER?
Ans X 1.20% T 40%
v 2 70% & 80%

Question ID
Status
Chosen Option

173681518664
: Answered
|

<3 40% ¥ 60%
X 4 90% T 95%

Q.15 caf-sifceteer & v waw s9gea X @ & o =9 ofg wiawe & o R G mr §2

Ans X-L
s 9T 89 UeT (Salient pole type rotor)

Question ID :

Status

Chosen Option :

73681518708

:Answered

3

X 2

Teayer &= e (Squirrel cage rotor)

v

Ty Taelfgehel T89 AT (Smooth cylindrical type rotor)
K 4 9r3e= T (Wound rotor)

V1 37 faew T S giferEeT # OT AET 27
X1 DI HER T A (ruggedness)

Question ID :
Status :
Chosen Option :

73681518692
Answered
2

v . o FEerear
X 3. fFeHT IrET Fr I F@T g &
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X 4 FH e 9T FH FIAT

Q.17 == Rega v e @o Rowe (FsfFer Sogem) & o 1T § & 9 & O F agond @ §
TF T I &7

XK Rega F g 9sE
v 2. Taegd T TEElEs JHE
X = Taega &1 geeim geme
X 4 Tacgd &1 Ay guE

Question ID :
Status:
Chosen Option :

73681518662
Answered
2

Q.18 =7 M (Self-bias) # et # fFm gay a5 ¥ off S =T 2

Ans 1 gfReT HERTE (Emitter bias)
X 2 fear 3f8=T (Fixed bias)

X 3. HTT HTAATT (Base bias)

X a
deee Barsst AT (Voltage divider bias)

Question ID :
Status :
Chosen Option :

73681518697
Answered
4

Q.19 is used for constant speed drives.

Ans X 1. AC motor
' 2. Shunt motor
X 3. Series motor

/< 4. Compound motor

Question ID :

Status
Chosen Option

73681518677

:Answered
:3

Q20 ffr fiseunT (DC) ofe HET F EHTE FoTYT (27) @ @

e XK w1y ==
v 2 3=
X T

X4

Question ID :

Status

Chosen Option :

73681518679

: Answered

1

Q.21 v & #r 20 3w F wfewry & ey sar &1 A 0.75 ERR & ae Yoy & SEw & & d i &
faegdaTes &= (EMF) T gem?

fns X120 dree
v 2 15 aeT
X35 dee
X 4 30 dee

Question ID
Status
Chosen Option

173681518657
:Answered
12

Q.22 In CB configuration output characteristics. in which region is the collector current approximately equal to the emitter
current?

Ans X 1. Cutoff
& 2. Saturation
X 3. Inverted

Question ID
Status

173681518696
:Not Attempted
Chosen Option :
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v 4 Active

Q.23 g gaeis (CE-tfEcanR) 91 wie wifts I H g g

Question ID : 73681518695
Ans Ib Status : Answered
X For Chosen Option : 3
R
le
v
Ib
X a T
Ic
.24 BT
@24 Fms (CRO) & gaqe Whoyaran ($¥rdw) foream gem? Questiofl 1D :73681518710
Ans x 1.100 O Stafus:NotAttempted
Chosen Option : --
X 2 Qﬂ
<310 0
v i1mQ
_—
.25 :
% ymer Fr waET SR AT ST E Question ID : 73681518665
Ans Status : Answered
« B aaﬂ Chosen Option : 1
X2 FAE
X 3. fesespiT (Rectifier)
X4 Fre
=
.26 . B
02 oy Wi e & TAA F F-f=g Fr &7 Question ID : 73681518670
Ans W Status : Answered
X . fszemr St JeT (Do series motor) Chosen Option : 4
X2 HER & FaH
X 5. gegeRTell AT (Synchronous motor)
v
FT FT I9GET TS T Fhea-FoT (single phase) SRUT AT
O = el ST (FERR) F AR TEA ¢, 7 FA T 27 Question ID : 73681518652
Ans ' Status : Answered
x %— Chosen Option : 3

V2 STH FTIEY FIT STH ST §

53
SHET FaT$ Teer § AT IHEY FE 9% g §

X 4 gy wfadresar gedr §

Q.28 frfafea & @ w1, Namy ieres & gR-E=RoT (21 e FeE) m?ﬂ[—@mmmarnlw




Ans ) Status : Answered
-
x Chosen Option : 3
v 2 soEeled
X 3 grem
X 4 7
Q29 FEwar 1 T O (pitch factor) F I &l Question ID : 73681518717
Ans x 1. Status : Answered
oYer 3eRTer (Pole pitch) / &Se HaRTeT (winding pitch) Chosen Option :2
v 2
FEoll 37 (winding pitch) / Ste 3w (Pole pitch)
X 3
FEall e (winding pitch) - dter 3@ (Pole pitch)
X a
FBoll 3aqe (winding pitch) x die 3iatrer (Pole pitch)
Q30 2 s crer 6 e A gl T e e S 8 Question ID : 73681518714
Ans x1_ a? ﬁﬂ' (Back itch) Status : Not Attempted
H Chosen Option : --
X 2 T = (Average pitch)
v 3 Oter =1 (Pole pitch)
X 4 e T (Coil span)
@1 enfyar (capacitance) & s 2l Question ID : 73681518688
) Status : Answered
A
" «1‘ ﬂ'ﬂg' Chosen Option : 1
X 2 o
X 3 gl
X S
Q32 i (sinusocidal) Searad! gmT & & & v Wi et F=ar 3? Question ID : 73681518699
Ans X' 1. 0.707 Status : Answered
x 2. 0.6371 Chosen Option : 4
X310
v 4111
.33 . e fanate
% BT (illumination) FT =& FaT &2 Question ID : 73681518712
Status : Answered
A ;
" X 1. TRUETT (Steradian) Chosen Option :3

X 2. Cd/m?
W 3 T (lux)
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X 4 TGAT (Lumen)

.34 - gfaTrer
Q34 dwdr (BUT) & g # TEEA. (FET) 1 g R Question ID : 73681518705
Ans  of 1 F=AT Status : Not Attempted
x 2. JHTT Chosen Option : --
X 3 FeOH
AR
Q.35 el gemrEr utr 9ftwy (AC TfEe) ¥ RT aeerdr (3 H#ex) gE A e e 9w a2 A i Question D : 73681518709
uestion ID :
A .
"V gfEr e (Active power) Status : Answered
Chosen Option : 2
X 2. HTHTHT 9TaY (Apparent power)
/3. gfaErdr 9@ (Reactive power)
X 4 Hffregs 9raT (Peak Power)
Q.36 o dfFeewre sraw § wRas 9y (Forward resistance) &ar giem? Question ID : 73681518691
Ans F R 3_-';“—_'- Status : Not Attempted
Chosen Option : --
X2 Fo Far 3
X3 o HEA
v i T HEA
.37 £
7 & (LE) Puw e 32 F e Question ID : 73681518684
Ans v; : Status : Answered
' : : Chosen Option : 1
EFTTeha [T 7T vF smEdfed 3eE = (neutfal conductors) FT g2ET &
X 2 IEF IRNET 9 Fe-HFE
A3 fRETOT, TuTTST, Yo
X 4 HFATA
_
.38 - i
938 gt w1 dew SRS A SR T ¥ 9 A Question ID : 73681518648
Ans x 1. J&ET Status : Answered
Chosen Option : 4
/X 2. BT
X 3 confEew
v o TEEr
Q.39 T T IgET
i i R R e e Question ID : 73681518680
feram s =g Status : Not Attempted
Ans J 1. ﬁ-ﬂ? Chosen Option : --

X 2
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$ﬁ-‘ﬂéﬁ‘cl’ FI35 (Commutative compound)

X3 9T
p
fEferaer 933 (Differential compound)

Q40 Tty affer TrEPER F PEAfRE F @ FiAwr FUsed g &2

Ans x-]_
&® IEa T FUsaA (One winding without taps)

X 2 e wafEEt #r ar Fosew
X 3

ar IAETAT FUser (Two interlaced windings)
v
¢ow #fgd T FUsest (One winding with taps)

Question ID : 73681518703
Status : Not Attempted
Chosen Option : --

Q.41 5 feseunT (DC) 2 Hiex F FEF & ¥ [T o5 Fufy W agan =@ & & o
T 9T A TS T E2

e XK ol ageT @ S
X2 st & o Smar ¥
Vi odr g AT #

X ¢ yafEfds @ &

Question ID
Status
Chosen Option

173681518678
:Answered
1

0.42;_'%#@%%3@?”%?
Ans X1+ 10%

V2 + 10%

X3+ Bog
X4 + 5%

+

I+

Question ID
Status
Chosen Option

173681518669
:Answered
4

Q.43 o zimwet & gfadas grT (secondary curent) @i fEem &€ @ =fgv & @ wew & el o
WE F TS & Ay FEm| E e # vwr e i ¢7

X g T
X2 % 7 TEH
v s # T Bmw
?{4.3@'3?!’1%'&11'

Question ID
Status

173681518646
:Not Attempted
Chosen Option :

Q. 44 1fanamplifier has good voltage. current and power gains with a low input resistance. it is referred to by which term?

Ans o 1. Common emitter
X 2. Common drain

X 3. Common base

Question ID :
:Not Attempted

Status

Chosen Option :

73681518704
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< 4 Common collector amplifier

Q45 T dromTaEr (PMMC) 3907 &, STeU/siY 3] 37 §em?

Ans

ARl o)
X2 e
'3 3=
K4 AT

Question ID
Status

173681518711
:Not Attempted

Chosen Option : --

Q46 Gt 1 Fiw A1 T A5 W S W & fre ey g

Ans

v 1. FHme (KCL)
X 2 e (KVL) T sewer (KCL)
XK @ s @y 78 gar g

Question ID
Status

173681518656
:Not Attempted

Chosen Option : --

X 4 FATer (KVL)
Q.47 e aRfRufaat & Aee olin & 9fod #ar gem? Question ID : 73681518653
Ans Status : Answered
< 1.1000 3T}?-'T & FET Chosen Option : 3
X 210 3R =T =7
¥ 3100000 3EH o= === & A&Far ¢
2 4100 HEH
Q.48 If the four stripes of a resistor are yellow-violet-blue-gold, what will be the value of resistor?
Ans ( i Question ID : 73681518668
1. 4TMQ + 5% Status : Answered
X 24700 Q + 100% Chosen Option : 1
X3.470Q + 5%
X 4 47TKQ + 5%
U HEE (FET) 58 yor & oufig o= &2 Question ID : 73681518706
Ans Status : Answered
x B ' -] Chosen Option : 4
v 2 dreear (Voltage)
X 3 &I (Current)
X 4. o [ faEga (Power)
% o (o) & ?IJ%' Ter RAwea ﬂﬁ'l Question ID : 73681518686
A Status : Answered
ns ?( 1. Qﬁﬂw Chosen Option :3

X 2 3o
o 3 GHETeTeh
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X 4. Taega-Tu= (Insulator)

! GEga ¥ Fo W FETUA FT 3TN HAT TRT?

Question ID : 73681518645
A . Status : Answered
"X e gT T F 3T IAT T AT Chosen Option 1
X 2 gfAfFar & TaT T AT F
v
Ty F S e dR gafea e & Rege o9 @ 7% o A
X a
7E giAfRed e & 9T @@ & @ d
452 feweurr (DC) #lter o & FEeh(Hies amsfEm) et ool @il &7 Question ID : 73681518672
Ans Status : Answered
1. ¥ =T
x (Armatu I'E} Chosen Option : 1
X 2
T T TEeT 1T 97 (Both rotor and stator)
v 3. TEaT (Stator)
X 4 T (Rotor)
053 swnRR fr FURE Gw ToE w amiE e Question ID : 73681518701
Ans i Status : Answered
x I W Cal ﬁ:‘m Chosen Option : 3
X2 IF FT TR
v R F ST
X 4 T & T
@3 e (FeFex) T TR frm RN A& aar 87 Question ID : 73681518658
Ans " Status : Answered
« " E:E e el (EMF) Chosen Option : 4
X 2 FErs
X 3. aTIHAT
X 4 mHEAT F gFa
R R e e e Question ID : 73681518650
Ans x 1. mf@ﬁ Status : Not Attempted
"“ Chosen Option : --
X 2 ofEqaT
v o dreew
X 4 o
Q.56 ( @ HHatEII'IaI klw




Ans

AT I (FFFET) F Feear AT FiT F I S 39T FA7 BT B2
X 1.90° #E

Question ID
Status

Chosen Option :

173681518700
:Not Attempted

X2 Th -
v 5 90° BT
X 4.180°
Q.57 f kFOTeHSF @ A AT & Te F W G v § A oF 77 7 Fw Fy §2 .
Question ID : 73681518698
Ans x 1.
Status : Not Attempted
UACHF T FHUMHF ST arTA= =IUTI'=F AT (Both Positive & Negative temperature coefficient )
thermistor) Chosen Option : --
X2
ohA ATTATA ?;rlﬂ'fff ITFTET (Inverse temperature coefficient thermistor)
v 3
HUMcHSR dTTHT ?_11'0'51? uffTeT (Negative temperature coefficient thermistor)
X a
YATcHS ATTHTA E;FUW uffieet (Positive temperature coefficient thermistor)
.58 ;.
58 ooz o F TRE FE F T s@er 7@ TR ST 22 Question ID : 73681518713
Ans Status : Not Attempted
1. m m?T
x Chosen Option : --
X2 FeEms ¥ R
X s gEaIdr & fow
v i gea & T
—_
059 e ejonds e RS s n aTedg) Question ID : 73681518655
Ans x 1 m w (QTR' mm) aﬁ. a; ﬁ'ﬁ' Status : Answered
' 2 Chosen Option : 1
v &)
Fae H 6 F 99y g TS F B
X 3 goreg ofdag o & B
X 4 T I (FHeree) etk forT
Q.60 5= aw s TeT FHAT (rewireable fuses) @ g & TIHNE (HRC) Fai &1 F7am amst &2
Question ID : 73681518718
Ans x 1. Status : Answered
HET § P& Hgaiede (Not fire protective) Chosen Option :2
V2
3= T9eur &7#AT (High rupturing capacity)
X 3 3o B g3 (Semi enclosed)
X a
FIATHES T Fr 3TEATT (Aging effect is present)
Q.61 Rseurr (DC) At #r Ty & 3w 7Y W Biwor w@e v ey 9@ & 39aeT R s 32
Ans .73681518681

v . oi Fres Fa (Shunt field control)

Wi
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X 2 dreesT FareT (Voltage control)
X 3 ez 0 3 (Field tap method)
X 4 FTHIT FAST (Armature control)

Chosen Option :

Q.62 mﬁﬁaﬁﬁm(m)mmmgvmﬁmm% ar g aar femst &
ze gieRy @ #1 s d ar fufy i Question ID : 73681518689
Ans Status : Answered
1. el (Open
( = ( P ] Chosen Option : 1
X 2 =T
X 3. FrRr (Leaky)
X 4 9ME (Short)
_
Q.63 & 21 gfared Fr Sofr # A= wferrer 7
R R PR i Question ID : 73681518659
Ans ( 1. 50 Status : Not Attempted
Chosen Option : --
X220 P
X3 52
X4 30
Q.64 o
QIaTeT T 3TeT 4T E‘]?IT %"7 Question ID : 73681518649
- Status : Not Attempted
Ans -16
x 1.-1.602 x 10 W Chosen Option : --
X2 -1.802 x 107° Few
X3 -1.602 x 10" g
v+ 1.602 x 107 FHaa
Q.65 % gy T & 2t TR (earth resistarice) T T A 21T £7 Question ID : 73681518683
Ans J .05 0 Status : Answered
Chosen Option :2
X2200
x<31.00
X4010
-
Q66 EET has how many termifals? Question D : 73681518707
Ans x 1. Two Status : Answered
Chosen Option :2
v 2. Three
< 3. Four
& 4 One
.67 =
Qe geaesTel WA (synchronous condenser) 4T g7 Question ID : 73681518715
Ans Status : Not Attempted

X 1. feseuamT #er (DC motor)
X2

C n Option :




HeT-3catatd Jedshrer AeT (Under excited synchronous motor)

v
H-3catsa WFF AT (Over excited synchronous motor)

& 4 97oft AT (Induction motor)

Q.68

Transformer core is made up of which one of the below?

Question ID : 73681518702
Ans x 1. Low carbon steel Status : Answered
< 2. Stainless steel Ghosen Option :2
# 3. Chrome steel
+ 4 Silicon sheet steel
.69 33T S A, Wl s A xR Gﬁr BT &2 Question ID : 73681518676
Ans X1 o= (}"Dk&) Status : Not Attempted
Chosen Option : --
v 2. 3= arEfEeT (Armature winding)
X 3. Hrez aEfEer (Field Winding)
X 4 Orer SEfET (Pole winding)
Q70 TWhich effect can be produced by electric current? Question D : 73681518661
Ans o 1. Heating. Chemical and Magnetic effect Status - Answered
Chosen Option : 1
/X 2. Only Heating effect
7< 3. Only Magnetic effect
/< 4. Only Chemical effect
Q71 Ap induction motor works with which ene'ofthe below? Question ID : 73681518716
Ans X' 1. Both AC and DC Status : Answered
< 2. Controllable DC only Chosen Option -1
' 3. AC only
X 4. DC only
Q.72

Ans

‘What is meant by electtically neutral semi-conductor?
/< 1. No minority carriers

/X 2. No free carriers

v

Positive and negative carriers of equal number

/< 4. No majority carriers

Question ID
Status

173681518687
:Not Attempted
Chosen Option :

Q.73

Ans

TR FoEH (HeAfes Tawn) frw TfewrnT & sgemATeEr 2T 82

X . faegaaEs 99 (EMF)

Question ID
Status

173681518666
:Not Attempted




X 2 FAFH UaT

%3 THEATE (MMF)

T gfasersr (Magnetic reluctance)

Q.74 m=wr s FaT F ToEcA F SEaedT § ¥ Y F ¥ 5= S 6w 8

e XK1 g
v 2 WY sorerei (Free electrons)

X 3. G333 9 (Bounded electrons)

X a
ST 1388 Soleate (Tightly bounded electrons)

Question ID
Status
Chosen Option

173681518651
: Answered
12

Q.75 fgga w¥ur (gafFzs fm) & v, fFe @t &1 3w R s @R
Ans x 1 QiE
v Fhs
p
fwifeeraer #ar3= (Differential compound)

X a
5@%3’ FI35 (Commutative compound)

—

Question ID
Status

173681518675
:Not Attempted
Chosen Option :

Section : General Awareness

Q.1 3T @ A S@T FelcAT e 3T 3 o=t #1942 F F2 R e on, SR e & e 12

Ans ?(1- j é
X2 Fiar
X o T

v g

Question ID
Status

173681518721
:Not Attempted
Chosen Option :

Q2 Froerar @ YR B ST 9K T FEGHH FAER 99 R @ o
Ans X—]mm

X 2. FISTRTAT AT

v 3 e TeT

X 4 FEMH FRAT

Question ID
Status

Chosen Option :

173681518720
: Answered

2

Q.3 f==ffRs & ¥ g T oy & 99 il FFg @ Tedm |9 s # o 3

A X rRere AT
X 2 HTEHR FiAT
X grEetae 39FA TfEfE

Question ID
Status

173681518724
:Not Attempted
Chosen Option :
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v ¢ S o JtE

Q.4

& 2015 & Rt Az @ geafaa G ar are

Question ID : 73681518733
Ans ; i Status : Not Attempted
1. i?!giﬂ;q EEqué; A1
« # 14? Chosen Option : --
X 2 7§ T/
A3 g HETAT
X 4. FHeATAT THHS
Q5 Which is the world’s longest mountain chain? Qud®ND - 73681518732
Ans « 1. Andes Status : Not Attempted
. Chosen Option : --
X 2. Vindhyas
/< 3. Rocky mountains
/< 4. Himalayas
.6 : g
Q qIag TI'@'J FEH S FTUIAT FE g H Eé' of? Question ID : 73681518727
Status : Answered
Ans
x - 1888 Chosen Option : 1
< 21919
< 31905
v 4+ 1885
7
%7 @& (SAARC) &1 QI &1 T &2 Question ID : 73681518738
Ans x N Status : Answered

a3y v TEfaveE B REregeel S
mﬁgaﬁﬁmn@ﬁmmmﬁmﬁqﬁ?m
mﬁ;aﬂﬁmmﬁwmﬁtﬂmﬂﬁMH
H«B;nﬁmﬂvmmmﬁmﬁMH

Chosen Option

|

8 PRfes & @ Ber e
: Tﬁﬁ ? T a Rl e Question ID : 73681518725
A x " Status : Not Attempted
v m Chosen Option : --
X g Fgrarefrer
X 4 e TR
Q.9

Ans

o mmefr ik w=faw Fr o FEeE” F w7 7 3T G ar?

X 1. FIAET AT AGE

Question ID

R Wateérmar

73681518722

|J|N



X 2 RAsmesdr 92T
v o AT A3
X4 A aa

Q.10 T
S PR B, (ATIE). A IR o e e s S e 42 Question ID : 73681518730
Ans  of 1 FOT Status : Answered
Chosen Option :3
X2 gifae "
X3 AT
X 4 FaT
=
Q.11 :
g9 9ET 99 & 9« & A # #3913 a9 22 Question ID : 73681518723
Ans x . Status : Answered
1 fegeT
Chosen Option :3
v 2 FEadr
X 3 3FCE
X o ST
Q12 ey 5y B 4 T
LR H WA wed F Y T Question ID : 73681518719
A 1 TTere w1 s Status : Answered
w Chosen Option : 1
X 2 ART & HIAT SIRT AT
X 3. HIOAT FHRE
X 4 TOIeT e
Q.13 fra &9l o gfemm & = == & “ReT g8 (Big Hoss) awrar o, 5 weell aw AR 2014 # ®IE
= & e Aex Fher o s R Question ID : 73681518736
Ans x 7 ﬂ Status : Not Attempted
Chosen Option : --
X 2 g
X s TaEeT
v o dFTaee
= =
Q.14 2011 Fr FATUEAT F HFAT ; AT SAEEAT HATT ?
B S i SR sl & Question ID : 73681518737
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Read the passage given below and then answer the questions
that follow it by choosing the best option:

In 1781. twelve families trooped north from Mexico to
California. On a stream along the desert's edge they built a
settlement called Los Angeles. For many years it was a market
town where nearby farmers and ranchers met to trade. Then in
1876 a railroad linked Los Angeles to San Francisco and.
through San Francisco to the rest of the United States. The next
year farmers sent their first trainload of oranges east. A new
railroad provided a direct route between Los Angeles and
Chicago. Then in 1891, oil was discovered in the city. As
derricks went up. workers built many highways and pipe lines.
Digging began on a harbor that would make Los Angeles not
only an ocean port but also a fishing center. The harbor was
completed in 1914. That year the Panama Canal opefied.
Suddenly Los Angeles was the busiest port on the Pacifie
Coast. Today the city is the main industrial center in theé West.
It produces goods not only for other West Coast communities
but also for those in other parts of the country. It leads the
nation in making air planes and equipment for exploring outer
space. Many motion pictures and television programs are
filmed in Los Angeles. The city is also the business ¢enter for
states in the West. Improvements in transportation are the main
reason for Los Angeles' growth

SubQuestion No : 1

Q1 Tos Angeles became the busiest port on the Pacific Question ID : 73681518755
Coast when: Status : Answered
Ans X 1. Chosen Option : 4

a railroad linked Los Angeles to San Francisco.
#< 2. oil was discovered in the-eity:

+ 3. the Panama Canal opened.

X 4
there was a direct rail route'between Los Angeles
and Chicago.
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Read the passage given below and then answer the questions
that follow it by choosing the best option:

In 1781. twelve families trooped north from Mexico to
California. On a stream along the desert's edge they built a
settlement called Los Angeles. For many years it was a market
town where nearby farmers and ranchers met to trade. Then in
1876 a railroad linked Los Angeles to San Francisco and.
through San Francisco to the rest of the United States. The next
year farmers sent their first trainload of oranges east. A new
railroad provided a direct route between Los Angeles and
Chicago. Then in 1891, oil was discovered in the city. As
derricks went up. workers built many highways and pipe lines.
Digging began on a harbor that would make Los Angeles not
only an ocean port but also a fishing center. The harbor was
completed in 1914. That year the Panama Canal opefied.
Suddenly Los Angeles was the busiest port on the Pacifie
Coast. Today the city is the main industrial center in theé West.
It produces goods not only for other West Coast communities
but also for those in other parts of the country. It leads the
nation in making air planes and equipment for exploring outer
space. Many motion pictures and television programs are
filmed in Los Angeles. The city is also the business ¢enter for
states in the West. Improvements in transportation are the main
reason for Los Angeles' growth

SubQuestion No : 2

Q2 Ol was discovered in Los Angeles in the Question ID : 73681518756
year . Status : Answered
Ans «1' 1891 Chosen Option : 1
< 2 1914
X 3 1781
< 4 1876
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Q.3

Read the passage given below and then answer the questions
that follow it by choosing the best option:

In 1781. twelve families trooped north from Mexico to
California. On a stream along the desert's edge they built a
settlement called Los Angeles. For many years it was a market
town where nearby farmers and ranchers met to trade. Then in
1876 a railroad linked Los Angeles to San Francisco and.
through San Francisco to the rest of the United States. The next
year farmers sent their first trainload of oranges east. A new
railroad provided a direct route between Los Angeles and
Chicago. Then in 1891, oil was discovered in the city. As
derricks went up. workers built many highways and pipe lines.
Digging began on a harbor that would make Los Angeles not
only an ocean port but also a fishing center. The harbor was
completed in 1914. That year the Panama Canal opefied.
Suddenly Los Angeles was the busiest port on the Pacifie
Coast. Today the city is the main industrial center in theé West.
It produces goods not only for other West Coast communities
but also for those in other parts of the country. It leads the
nation in making air planes and equipment for exploring outer
space. Many motion pictures and television programs are
filmed in Los Angeles. The city is also the business ¢enter for
states in the West. Improvements in transportation are the main
reason for Los Angeles' growth

SubQuestion No : 3

Which of the following statement is not true?

Ans (1. Many movies are filmed in Los Angeles.

v
Today Los Angeles is the maintagricultural center
in the West.

X 3

Work on the fishing harbor was completed in 1914.

Air planes and space equipment are made in
~ Los Angeles.

p

Question ID : 73681518757
Status : Answered

Chosen Option : 1

Q4 Convert the sentence into indirect speech.

Rajkumar said, “My brother has gone to Canada.”
Ans x 1.

Rajkumar said that my brother has gone to Canada.

X 2

Rajkumar said that his brother has gone to Canada.

X 3

Question ID : 73681518761
Status : Answered
Chosen Option : 3
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Rajkumar said that my brother had gone to Canada.

v o
Rajkumar said that his brother had gone to Canada.

Q.5 Our war planes were successful in inflicting heavy damage on the enemy fleet. .
Question ID : 73681518760
The underlined word is a noum. Status : Not Attempted
Ans X' 1. proper Chosen Option : --
X 2. common
« 3 collective
X 4. compound
Q.6 :
The antonym of barren is Question ID : 73681518762
Ans i 1. fertile Status : Not Attempted
. : Chosen Option : --
X 2 sterile
X 3 dry
X 4 bleak
Q.7 . : ;
Identify the adverb in the following sentence. Question ID : 73681518759
Status : Not Attempted
Father is somewhat better today. Chosen Option : --
Ans  of 1. somewhat
X 2 today
< 3. Dbetter
X 4 father
=
Q.8 M. Y 2
Choose the most appropriate prepositiofto fill the blank. Question ID : 73681518764

Ans

There is no point crying _ spilt milk.
X1 with
X 2 by
v 3. over
X 4 in

Status : Answered

Chosen Option :

2

Q.9

Ans

Hurrah! We have won the overall championship.

The underlined word is a/an:
< 1. pronoun

' 2. interjection

/< 3. conjunction

X 4 adverb

Question ID :
Status:
Chosen Option :

73681518763
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Ans

Choose the appropriate passive voice form of the sentence below.

X X . .
~alleaomes acensed him of variong crimes

Status : Not Attempted
Chosen Option : --

Various crimes were accused of his colleagues.

v 2

He was accused of various crimes by his colleagues.

X 3

His colleagues accused various crimes to him.

X a

He is accused of various crimes by his colleagues.
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